2 KBS OKEMRAE
(7) KiLygKG
(1) AL M O R A

@ JFUk
£ 7K s A H H28.4.4 | H28.5.11 | H28.6.14 | H28.7.4 | H28.8.3
PN i 5] 5] 5 i =
X i (©) 14.5 18.7 20. 4 27.5 23.7
7K i (©) 12.0 15.9 15.1 17.7 17.3
— ik A (f8 /mL) 54 386 28 34 48
X i) (MPN/100mL) 14 84 120 50 53
H RFITLEVTZDOEY (mg/L) - - - — —
K B kK O O b & W (mg/L) - — - - -
* L v kO DO EAE WY (mg/L) — — — — —
m Kk ™ F o I A W (mg/L) - - — — —
v # & O 0o b A& W (mg/L) — — — — —
A - N (mg/L) - — — — —
i) H i e = F# (mg/L) — — <0. 004 — —
T Mk A A KR OEbS T v (mg/L) — — — — —
MR EEELCHMBREER (mg/L) — — 0. 69 — —
7 v F kT X O A Y (mg/L) - - <0.08 - -
AU F K X EF O b & W (mg/L) - - — — —
) bi 1k K F (mg/L) — — — — —
IR - T (mg/L) - — — — —
CA-1,2-V 7 muxF L KN
T R-1,2-V 7/ muaxF L (mg/L) — — — — —
DA = = A A (mg/L) — — - - -
> N 5 / v mr T F L v (mg/L) — — — — —
Y 7 v v == F L (mg/L) — — — — —
~ N + N (mg/L) — — - — -
#H ES [ (mg/L) — — — — —
7 = | e [ (mg/L) — — — — —
Y = = Ry v A (mg/L) - - - - -
v 7 = = B i3 (mg/L) — — — — —
> JFnm ® o monu A A (mg/L) — — — — —
5 F# i3 (mg/L) — — — — —
Wb y N v X K v (mg/L) — — — — —
~ ) 7 = = (mg/L) — — — — —
7 m T YV o owm R (mg/L) — — - - -
7 = s 2 JL A (mg/L) - — - — —
A N A 7 N F B K (mg/L) — — - - -
o &k ™ F 0 b A W (mg/L) — — — — —
TNV =0 A OEZEDONEW (mg/L) — — — — —
% Xk O o kb A& B (mg/L) — — 0.02 — —
i N O F o v A& W (mg/L) — — — — —
T F U U LAY E DO EW (mg/L) — — — — —
~ v H kR RNE DO E W (mg/L) — — <0. 005 — —
ey 1t W] A 7 N (mg/L) — — 2.5 — —
BT T, TR N GEE) (mg/L) — — 34 — —
7K i 7 E.é’ Y (mg/L) — — — — —
e 4 A& v H om W A (mg/L) - - — — —
D4 e 7 A N v (mg/L) — — — — —
2= A F L A4 VK IILV X F — b (mg/L) — — _ _ _
¥ A4 & v R om wm % A (mg/L) - - — — —
=7 s J — L JH (mg/L) — — — — —
HHWY (& F KR FE (00 © &) (mg/L) 1.0 1.1 0.5 0.4 0.4
p H i 7.7 7.7 7.8 7.9 7.8
% — _ _ _ _
5 0 S S S S e
£, i () 4.0 4.0 1.8 1.4 1.4
S g () 1.8 1.8 0.3 0.2 0.3
7 Jéé] i F (mg/L) — — — — —
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H28.9.26 = H28.10.3 | H28.11.9 H29.1.10  H29.2.15 | H29.3.14 Sy

& & & I I ] -

22.4 21.6 10. 2 6.0 4.4 7.0 15.5

16. 2 16.5 10. 7 7.2 5.3 7.5 12.5

54 56 25 2 2 6 33

35 51 11 0 23 6 37
<0. 0003 — — — — — <0. 0003
<0. 00005 — — — — — <0. 00005
<0. 001 — — — — — <0. 001
<0. 001 — — — — — <0. 001
<0. 001 — — — — — <0. 001
<0. 005 — — — — — <0. 005
<0. 004 — — — — <0. 004 <0. 004
<0. 001 — — — — — <0. 001

0.62 — — — — 0. 56 0.62
<0. 08 — — — — <0. 08 <0. 08
<0.01 — — — — — <0.01
<0. 0001 — — — — — <0. 0001
<0. 001 — — — — — <0. 001
<0. 0002 - - - - - <0. 0002
<0. 0001 - - - - - <0. 0001
<0. 0001 - - - - - <0. 0001
<0. 0001 - - - - - <0. 0001
<0. 0001 — — — — — <0. 0001
<0. 005 - - - - - <0. 005

0.03 - - - - - 0.03

0.03 - - - - 0.01 0.02
<0. 01 — — — — — <0. 01

3.7 - - - - - 3.7
<0. 005 - - - - <0. 005 <0. 005

2.7 - - - - 2.9 2.7

35 - - - - 38 36

71 — — — — — 71
<0.01 - - - - - <0.01
<0. 000001 - - - - - <0. 000001
<0. 000001 - - - - - <0. 000001
<0. 005 - - - - - <0. 005
<0. 0005 — — — — <0. 0005

0.3 0.2 0.3 0.3 0.4 0.3 0.4 0.5

7.8 7.7 7.7 7.7 7.5 7.8 7.8 7.7

Rl | ER R R R R R R
2.2 1.3 1.5 1.3 1.3 0.8 1.0 1.8
1.1 0.7 0.5 0.3 0.2 0.1 0.3 0.6
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2 KBS OKEMRAE
(7) KiLygKG
(1) AL M O R A

@O JFK
£ 7K = A H H28.4.4 | H28.5.11 | H28.6.14 | H28.7.4 = H28.8.3
T FELVEVBZ O EW (mg/L) — — - - -
v 7 v F Y E O E W (mg/L) — — — — —
= v F IV EOTE O AW (mg/L) — — — — —
,2- ¥ 7/ w wvu = #Z v (mg/L) — — — — —
b L T N (mg/L) — — — — —
TENLVEBY (2= FA~F L) (mg/L) — — — — —
il i) e i (mg/L) — — — — —
Y /7 m w7 k& b= kU (mg/L) — — — — —
W ok 7 v 7 = ) (mg/L) — — — — —
Jid 3 JA — — — — —
Vi3 At R [i7e (mg/L) — — — — —
LL,1- Y 7 v owm x ¥ (mg/L) — — — — —
A F ) —t—- 7 F )L = — 75 )L (MTBE) (mg/L) — — — — —
B K M E (T O N ) 2 4 3 1 3
BaEE (5 5 ) T 8 ) — — — — —
Be & 5 FS i (fE/mL) [ 18,000 12, 000 3, 600 1, 400 1, 400
Ll- ¥ 7 v o = F L (mg/L) — — — — —
53 S % 3 fied B (MPN/100mL) - - - - -
Wb ¥ B B R OE R & (mg/L) — — — — —
% 17 173 # (mg/L) — — — — —
% - L o o [t (MPN/L) 45 130 98 49 35
it X % 2 il [t} (MPN/L) — — — — —
x 5 #E  (MPN/100mL) 340 980 920 580 1,700
# OO $4 Bk (MPN/100mL) — — — — —
Ty v ®F = 7 B ® #K (mg/L) — — <0. 02 — —
# L D % A (mg/L) — — — — —
< 7 7 v % A (mg/L) — — — — —
it i3 A %+ N (mg/L) - — 5 — —
b U N o A H v A Rk RE (mg/L) — — — — —
% 7 Jb 7 ) )3 (mg/L) — — - —
5 = 5 i R (mS/m) 8.4 7.6 8.9 9.3 9.2
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128.9.26  128.10.3  H28.11.9 H28.12.13 H29.1.10  H29.2.15 H29.3.14 | f&Kk Bl 23
<0. 0003 — — — — — — — —  <0.0003
<0. 0002 - - - - - - - —  <0.0002

<0. 001 - - - - - - - —  <0.001
<0. 0001 - - - - - - - —  <0.0001
<0. 0001 — — — — — — — —  <0.0001
<0. 001 — — — — — — — —  <0.001
<0. 001 — — — — — — — —  <0.001
0.8 — — — — — — — — 0.8
<0. 0001 — — — — — — — — <0.0001
<0. 0001 — — — — — — — — <0.0001
<1 3 3 4 4 3 3 4 <1 3
1.2 — — — — — — — — 1.2
3, 000 3, 300 5, 800 6, 500 4,500 3, 600 8,200 [ 18,000 1,400 5, 900
<0. 0001 — — — — — — — —  <0.0001
0 — — — — — — — — 0
39 52 53 22 19 4 14 130 4 47
24, 000 — — — — — — — — 24,000
920 1,700 160 110 59 51 69 1,700 51 630
110 — — — — — — — — 110
<0. 02 — — <0. 02 — — <0. 02 <0. 02 <0. 02 <0. 02
10 — — — — — — — — 10
2.5 — — — — — — — — 2.5
5 — — 6 — — 7 7 5 6
31 — — — — — — — — 31
8.9 9.1 9.2 9.3 8.9 9.4 9.7 9.7 7.6 9.0
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2 KGR DO KEHRAE
(7] KRiligKG
(1) B R Ol E AL

O JFK

£ 7K i A H H28. 9. 26 22 7K i A H H28. 9. 26
L3-Y 7uwew7  na” v DD (mg/L)| <0.0002 F 4 7 7 Fx — bk A F L (mg/L)| <£0.0001
2,2-DPAC ¥ & v ) (mg/L)| <0.0002 F F X v FH o 7 (mg/L)| <0.0001
2, 4-D (2, 4-PA) (mg/L)| <0.0001 F O 7 H 7 (MBPMC) (mg/L)| <0.0001
EPN (mg/L)| <0.00001 k P v =t =4 Jb (mg/L)| <0.00005
MCPA (mg/L)| <0.00005 U 7 w v & v (DEP) (mg/L)| <0.00005
7 v e 7 2 (mg/L)|  <0.0001 kU ¥y 7 Z Y — L (mg/L)| <0.0001
7 + 4 - — I (mg/L)| <0.00005 kv 7 o Z U v (mg/L)| <0.0001
7 k 7 v > (mg/L)| <0.0001 5 a = s 2 K (mg/L)| <0.0001
7 = =4 Rz 2 (mg/L)| <0.00001 =4 ~ =t N 2 (mg/L)| <0.00001
7 N b 7 2 (mg/L)| <0.00005 v 5 Y % v 7 = v (ng/L)] <0.00001
7 7 7 =4 — Jb (mg/L)| <0.0001 oYU x—h(EFYL—F) (mg/L)| <0.0001
4 Y % ¥ F 4 v (mng/L)| <0.00005 vy ¥ 7 = v F 4 v (mg/L)]| <0.00001
4 v 7 = v & A (mg/L)| <0.00001 vy 7 F H v F (mg/L)]| <0.0001
A4 Y 7 v H N 7 MIPC) (mg/L)| <0.0001 =4 = ¥ =t > (mg/L)| <0.0001
A4 Y 7 v F F F v (IPT) (mg/L)| <0.0001 7 A e = = JV (mg/L) [<0. 000005
A4 7 m X » &’ A (IBP) (mg/L)| <0.0001 7 = = b v F F ¥ (MEP) (mg/L)| <0.0001
A4 v ¥ 7 7 7 v (mg/L)| <0.00005 7 = J 7 H v 7 (BPMC) (mg/L)| <0.0001
— 2 7 w #H N 7 (mng/L)| <0.0001 7 = v F F v PP) (mg/L)| <0.00005
= ¥ 4 7 = v & % (EDDP) (mg/L)| <0.00005 7 = v k = — b+ (PAP) (mg/L)| <0.00005
= N7 = v 7 v v 7 A (ng/L)] <0.0001 7 x v F 7 ¥ I F (mg/L)| <0.0001
T RYTTY = (s a A=) (mg/L)| <0.00001 4 VA 7 A K (mg/L)[ <0.0001
T RALT 7o (R ) (ng/L)| <0.0001 7 vl v =4 — Jb (mg/L)| <0.0001
4+ ¥ ¥ Y 7 v A K v (mg/L)| <0.0001 7 v N = 2 (mg/L)| <0.0001
% v v 8 (F B 8 ) (mg/L)| <0.0001 7 7 wm 7 = ¥ v (mg/L)| <0.0001
4 UV ¥ A b m B v (mg/L)] £0.0001 4 JL 7 v a 2 (mg/L)| <0.0001
H 2 a N 2 (mg/L)| <0.00001 7 v F Z 7 v — b (mg/L)| <0.0001
H 7 = v A k m — i (mg/L)| <0.00005 -7 = D 3 K > (mg/L)| <0.0001
F /A VIS SR s (NAC) (mg/L)| <0.0001 vl =i ¥ %+ Rz 2 (mg/L)| <0.00001
/Y VR S = SV S R (mg/L)| <0.0001 7 v ¥ a5 v — L (mg/L)| <0.0001
H L N 7 Z > (mg/L)| <0.00005 v = = i N K (mg/L)|[ <0.0001
X /7 7 2 v (ACN) (mg/L)| <0.00005 7 v N Y — L (mg/L)| <0.0001
* ¥ 7 v > (mg/L)| <0.0001 v =t £ 7 ¥ K (mg/L)[ <0.0001
v 3 JL o > (mg/L)| <0.0001 ~ J 2 Jb (mg/L)| <0.0002
sy wm A w v 7 (mg/L)| <0.0001 ~ N g Vi =t > (mg/L)| <0.0001
7 m )= kua 7 = v (CNP) (mg/L)| <0.00001 N v Y v vy om v (mg/L)| <0.0001
s/ w o U & R (mg/L)| <0.00001 ~ v v 7 = F v 7 (mg/L)]| <0.00001
7 m v % u = b (TPN) (mg/L)| <0.0001 ~ N v ) >~ (mg/L)| <0.0001
D2 7 7 DX > (mg/L)| <0.00001 ~ v F 4 A Z U v (mg/L)| <0.0001
¥ 7 7 3 % (CYAP) (mg/L)| <0.00001 N v 7 H T (mg/L)| <0.0001
v v = v (DCMU)  (mg/L) [ <0.0001 Ny T ANT Y (R zxaYy) (mg/L)| <0.0001
v 7 v < = 5 OBN) (mg/L)| <0.0001 ~N v 7 L & — b (mg/L)| <0.0001
Y 7 w A AR Z  (DDVP) (mg/L)| <0.00005 A A F 7 ¥ — b (mg/L)| <0.00001
VANE (= FAFAA L) (mg/L)| <0.00001 ~ 7 FF v (=~ F Y v ) (mg/L)| <0.0001
v ¥ %+ = Jb (mg/L)| <0.00005 A @ F wm v 7 (MCPP) (mg/L)| <0.0001
oo v R vy 7 F L (mg/L)] <0.00005 A v 3 JV (mg/L)| <0.0001
v ~ v N (CAT) (mg/L)| <0.00001 A v Z x D4 b (mg/L)| <0.0001
v A Z R U ¥ (mg/L)| <0.0001 A F F F F ~  (DMTP) (mg/L)| <0.00001
v A k - — L (mg/L)| <0.0001 A F o X 4 A v v (ng/L)| <0.0001
v A b~ U ~ (mg/L)| <0.0001 A F I 7 Z2 F vw E v (mg/L)| <0.0001
YA ¥~ L — b (mg/L)]| <0.00001 A b Jj 7 D v (mg/L)| <0.0001
vl A 7 v J > (mg/L)| <0.00001 A 7 = F ¥ v + (mg/L)| <0.0001
v A A =1 > (mg/L)| <0.0001 A a =4 = Jb (mg/L)| <0.0001
¥ 7 v = Jb (mg/L)| <0.0001 £ Jj = — L (mg/L)[ <0.00005

¥ v = 2 (mg/L)| <0.0001

7 %+ 4 VY Jb 7 (mg/L)| <0.0001
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£ 7K i A H H28. 9. 26 22 7K i A H H28. 9. 26
EPN 7 ¥ 4 > (mg/L)| <0.00001 F T A % ¥ A& (mg/L)| <0.0001
A4 Y XY F 4 v F F Y v (mg/L)| £0.00005 Vi 7 Ju Vi 2 K (mg/L)| <0.0001
A4 Y 7 = v AR A F % Y v (ng/L)[<0.000005 T b7 7 v LB AR A (CWP) (mg/L)| <0.0001
- v F 2 A 7 = — b (mg/L)| <0.0001 > b 7 =2 F ¥V — J (mg/L)| <£0.0001
CNP- 7 3 J & (mg/L) [<0. 000001 > 7 7 = J ¥ K (mg/L)] <£0.0001
7 v ¥ U R AL F Y v (mg/L)| <0.00001 U X% W Xy 7 = F b (mg/L)| <0.0001
A4 7T Y ) v F F Y v (mg/L)]| <0.00001 U 7 o 2 Y — b (mg/L)| <0.0001
7 =t FF A F Y (mg/L)]| <0.00005 > 7 v ¥ = Y K (mg/L)| <0.0001
MPP 2 L & ¥ ¥ K (mg/L)| <0.00005 = 7 N =4 5 2 (mg/L)|  <0.0001
MPP A JL gz v (mg/L)| <0.00005 Ny v 7 5 Y — b (mg/L)|  <0.0001
MPP %+ ¥ v > (mg/L)| <0.00005 =4 A k =4 V4 > (mg/L)| <0.0001
MPP 4 &% ¥ v A2 )L 3R & ¥ K (mg/L)| <0.00005 g Yz 7 ua rx F L (mg/L)| <0.0001
MPP 4+ * Y ¥ Z 2 & v (mg/L)| <0.00005 U RNy 7 A F g (mg/L)]| <0.0001
7 % I &k A 4 ¥ Y v (mg/L)| <0.0001 v Yy I &k A A F L (mg/L)| <£0.0001
7 v ® 7 F K5 7 v ® (mg/L)| <0.0001 7 7 A b =4 JL (mg/L)| <0.0001
~ 7 F F v F YV v (mg/L)| <0.0001 7 v 7T Y & v 7 (mg/L)| <0.0001
7 w2 = 2 (DCPA) (mg/L)| <0.0001
7 v x 2 7 Y F (mg/L)[ <0.0001 - = A N 2 (mg/L)| <0.00001
A4 2 ¥ 7 wv ZF U K (mg/L)| <£0.0001 7 a N v ¥ » kb (BPPS) (mg/L)[ <0.0001
F 7 @ F v — )L (mg/L)] <£0.0001 7 v K Fx A A (PHO) (mg/L)| <0.0001
|=§ 7 v =4 Rz 2 (mg/L)| <0.0001 va = A bk ) > (mg/L)| <0.0001
7 O A 7 7 2 F (mg/L)| <0.00001 N Z A4 F v 7 (mg/L)| <0.00005
7 = < V4 Jb (mg/L)| <0.0001 D ¥ Dl 2 (mg/L)| <0.00001
~ v b X ¥ v v (mg/L)| <0.0001 N A # ) K (mg/L)[ <0.0001
D A = > (mg/L)| <0.0001 £/ 7 o b A (mg/L)| <0.00001
A N 7 v — b (mg/L)| <0.0001 ] = e =4 > (mg/L)| <0.0001
7 R v T b -S- A F L (mg/L)| <0.0001 7 Y % v A b m E v (mg/L)| <0.0001
7 A bk ) > (mg/L)| <0.0001 A =7 = Y % > (mg/L)| <0.0001
A4 F X~ T 4 F (mg/L)|[ <0.0001 7 = =4 kS 7 (mg/L)| <0.0001
4 <= Y A2 A 7 u v (mg/L)| <0.0001 T val = 2 > (mg/L)| <0.0001
vo= =22 F J — 3 P (mg/L)| <0.0001 Va = JL 7 =4 — JL (mg/L)| <0.0001
= b ¥ ¥ X o 7 v ¥ (mg/L)| <0.0001 M v 7 v R A A F b (mg/L)| <0.0001
- + N v ¥ = F (mg/L)| <0.0001 N\ A 7 v v A F g (mg/L)| <0.0001
+ % Y 7 L F o (mg/L)]| <0.0001 v 7 = v 7 A (mg/L)| <0.0001
%+ * VA N sV (mg/L)| <0.0001 vy 7 e % ¥ 7 = v (mg/L)| <0.0001
X ¥ v & v F = F A (mg/L)| <0.0001 7 5 ¥ =2 A 7 u ¥ (mg/L)| <0.0001
s v F 7 = ¥ v (mg/L)]| <0.0001 4 L k 7 = Jb (mg/L)| <0.0001
s v < 7 = 7 ¥V F (mg/L)| <0.0001 N R ) K (SAP) (mg/L)| <0.0001
7w gL B — )L P A F )L (ICTP) (mg/L)| <0.0001 N v AR 7 m v A F v (mg/L)|  <0.0001
7 v b F U R A A F b (mg/L)| <0.0001 A * ¥ Jb (mg/L)| <0.0002
Y7 v 7 x v F 4 v (ECP) (mg/L)| <0.00005 v Z B AAFALAEFY ¥ (mg/L)| <0.0001
D Vi = A v > (mg/L)| <0.0001
Y s wm A 7 v v 7 (mg/L)| <0.0001 > * ¥ ¥ 7 Y v (mg/L)| <0.0001
>y ) A 7 v v (mg/L)| <0.0001 s m A b *¥ ¥ = Jv (mg/L)| <0.0001
v J va 4 v > (mg/L)| <0.0001 MV 7 bEAL-2-T FFF I/ (mg/L)| <0.0001
Y 7 = J a3 F Y — b (mg/L)| <0.0001 = + m 7 = v (NIP) (mg/L)| <0.0001
v 7 g X v X m r (mg/L)| <0.0001 - = A DX > (mg/L)| <0.0001
vy 7 v =z v — b (mg/L)| <0.0001 2- 4 b & U % — k (mg/L)| <0.0001
D - o D = JL (mg/L)| <0.0001
Y A a F Y — b (mg/L)| <0.0001
Y A F o v v & Z (mg/L)| <0.0001
vy 7 7 v & 7 = v (mg/L)| <0.0001
v v A ¥ ) > (mg/L)| <0.0001
F 7 v wa  F K (mg/L)[ <0.0001
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2 KBS OKEMRAE
(7) KiLygKG
(1) AL M O R A

@ Kk
£ 7K s A H H28.4.4 | H28.5.11 | H28.6.14 | H28.7.4 = H28.8.3
PN i 5] 5] 5 i =
X I (C) 14.5 18.7 20. 4 27.5 23.7
7K i (C) 11.0 14.6 16. 1 18.2 18.0
— ik A (f8 /mL) 0 0 0 0 0
x i (MPN/100mL) 0 0 0 0 0
BRI v AR OZEOIAEY (mg/L) — — — — —
K B K O O b A B (mg/L) — — — — —
v L v Kk X 0O b A& W (mg/L) — — — — —
B Kk O F o I A B (mg/L) — — — - -
E #F &K O F O b AW (mg/L) — — — — —
N - U (mg/L) — — — — —
i H i HEe = F (mg/L) — — <0. 004 — —
T M A A RO T (mg/L) — — — — —
MR EEELCHMBREE R (mg/L) — — 0.74 — —
7 v F K N 0 LA W (mg/L) — — <0. 08 — -
r v F KR OO F O AW (mg/L) — — — - -
Iy bi 1k K F (mg/L) — — — — —
1,4- 4 7 o VA N (mg/L) — — — — —
CA-1,2-V 7 muxF LN
T v Rx-1,2-YV /7 uuxF L (mg/L) — — — — -
DA = = A o N (mg/L) — - - - -
> N % / v v T F L v (mg/L) — — — — —
K'Yy /7 v omr = F L v (mg/L) — — — - -
~ % v N (mg/L) — - — — —
iy 3 [ (mg/L) — — <0. 06 — -
7 = =i i3 i3 (mg/L) — — — — —
7 =] ad N v A (mg/L) — — — — —
v 7 5! = K i3 (mg/L) — — — — —
Y 7 v ® 7 a ona A X v (mg/L) — — — — —
" F# i3 (mg/L) — — — — —
¥ b U N w1 X HE (mg/L) — — — — —
b ) 7 = = (mg/L) — — — — —
7 oo ' Y J o oua A X v (mg/L) — — — — —
7 = s gz s A (mg/L) — — - — —
A N A 7T L F v K (mg/L) — — — — —
o &k O F 0 kAW (mg/L) — — — — —
TILI =0 AN ZEDOEYW (mg/L) — — — — —
% Xk O o kb A& B (mg/L) — — <0. 01 - —
g &K O x o kb A& W (mg/L) — — — — —
> F U U AR YE O EW (mg/L) — — — — —
~ v H RO E DO E WY (mg/L) — — <0. 005 — —
ey 1t W] A 7 N (mg/L) — — 2.7 — -
HIVT T A, TR N (REFE) (mg/L) — — 31 — —
7K i 7 2 W (mg/L) — — — — —
o4 o+ v RomE A (mg/L) — — — — —
D4 - 7 A 2 Ng (mg/L) — — — — —
2- X F )L A4 VKR IL R A — )b (mg/L) — — — — —
¥ A4 & v Fom w % A (mg/L) — — — — —
-7 T ) — L JH (mg/L) — — — — —
HHY (& F R FE (00 © i) (mg/L) 0.4 0.4 0.9 0.4 0.4
p H i 7.8 7.8 7.8 7.9 7.8
S Bl BELL | BELL | BEASL O BEARL
5 & HBHeEhl | BEaL | BEAeL | BEEihL BEAQL
&, 5 () 0.5 0.5 1.0 <0.5 <0.5
) g (%) €0. 1 0.1 0.1 0.1 0.1
53 "” R e (mg/L) 0.6 0.6 0.7 0.7 0.7
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H28.9.26 | H28.10.3  H28.11.9 | H28.12.13 | H29.1.10  H29.2.15 | H29.3. 14 LN £ 7)N S

= = = 2 5 5 [EE] — — —

22. 4 21.6 10.2 9.6 6.0 4.4 7.0 27.5 4. 15.5

16. 0 16. 4 11.0 8.6 7.2 6.1 7.6 18.2 6.1 12.6

0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0
<0. 0003 — — — — — — — — | <0.0003
<0. 00005 — — — — — — — — | <0.00005
<0. 001 — — — — — — — — <0. 001
<0. 001 — — — — — — — — <0. 001
<0. 001 — — — — — — — — <0. 001
<0. 005 — — — — — — — — <0. 005
<0. 004 — — <0. 004 — — <0. 004 <0. 004 <0. 004 <0. 004
<0. 001 — — — — — — — — <0. 001

0. 90 — — 0. 62 — — 0. 56 0. 90 0. 56 0.71
<0. 08 — — <0. 08 — — <0. 08 <0. 08 <0. 08 <0. 08
<0. 01 — — — — — — — — <0. 01
<0. 0001 — — — — — — — —<0.0001
<0. 001 — — — — — — — — <0. 001
<0. 0002 — — — — — — — —| <0.0002
<0. 0001 — — — — — — — — | <0.0001
<0. 0001 — — — — — — — — | <0.0001
<0. 0001 — — — — — — — — | <0.0001
<0. 0001 — — — — — — — — | <0.0001
<0. 06 — — <0. 06 — — <0. 06 <0. 06 <0. 06 <0. 06
<0. 002 — — — — — — — — <0. 002

0.0018 — — — — — — — —0.0018
<0. 002 — — — — — — — — <0. 002

0. 0001 — — — — — — — —| 0.0001
<0. 001 — — — — — — — — <0. 001

0. 0028 — — — — — — — — | 0.0028
<0. 002 — — — — — — — — <0. 002

0. 0008 — — — — — — — — | 0.0008
<0. 0001 — — — — — — — — | <0.0001
<0. 002 — — — — — — — — <0. 002
<0. 005 — — — — — — — — <0. 005
<0.01 — — — — — — — — <0.01
<0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
<0.01 — — — — — — — — <0.01

5.3 — — — — — — — — 5.3
<0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005 <0. 005

3.4 — — 3.1 — — 3.1 3.4 2.7 3.1

50 — — 36 — — 39 50 31 39

90 — — — — — — — — 90
<0.01 — — — — — — — — <0.01
<0. 000001 — — — — — — — — | <0.000001
<0. 000001 — — — — — — — — | <0.000001
<0. 005 — — — — — — — — <0. 005
<0. 0005 — — — — — — — — | <0.0005

0.3 0.2 0.3 0.3 0.6 0.3 0.3 0.9 0.2 0. 4

7.6 7.6 7.8 7.8 7.7 7.8 7.9 7.9 7.6 7.8

Bl BERL | BELL BEALL | OBEARL | O BEALL O RBEALL — — HERL

Bl BELL | BEALL BEASL | OREARL O BEALL O RBEALL — HBEnL
0.5 0.5 0.5 0.5 0.8 0.5 0.5 1.0 0.5 0.5
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1

0.6 0.6 0.6 0.6 0.6 0.6 0.6 0.7 0.6 0.6

- 204 -




2 KBS OKEMRAE
(7) KiLygKG
(1) AL M O R A

@ K
£ 7K = A H H28.4.4 | H28.5.11 | H28.6.14 | H28.7.4 = H28.8.3
T FELVEVBZ O EW (mg/L) — — - - -
v 7 v F Y E O E W (mg/L) — — — — —
= v F IV EOTE O AW (mg/L) — — — — —
L,2- ¥ Y/ w mw =x© ¥ v (mg/L) — — — — —
b L T N (mg/L) — — — — —
TENLVEBY (2= FA~F L) (mg/L) — — — — —
il i) e i (mg/L) — — — — —
Y /7 m w7 k& b= kU (mg/L) — — — — —
W ok 7 v 7 = ) (mg/L) — — — — —
Jid 3 JA — — — — —
Vi3 At R [i7e (mg/L) — — — — —
LL,1- Y 7 v owm x ¥ (mg/L) — — — — —
A F ) —t—- 7 F )L = — 75 )L (MTBE) (mg/L) — — — — —
B K M E (T O N ) <1 <1 <1 <1 <1
BaEE (5 5 ) T 8 ) — — — — —
e B % Ei3 il (f# /mL) 0 0 1 0 0
Ll- ¥ 7 v o = F L (mg/L) — — — — —
53 = P 3 fied B (MPN/100mL) - - - - -
Wb B B R O R R (mg/L) — — — — —
% 17 173 # (mg/L) — — — — —
74 - JL v =2 H (MPN/L) — — — — —
it = e S figd B (MPN/L) — — — — —
x 1% #E (MPN/100mL) 0 0 0 0 0
# OO $4 Bk (MPN/100mL) — — — — —
7 oy E = 7 W % # (mg/L) — — — — —
7 v v 17 I (mg/L) — — _ _ _
< 7 i v % A (mg/L) — — — — —
it i3 A %+ N (mg/L) — — 5 — —
AN - N - - (mg/L) — — — — —
i 7 L 7 ) i3 (mg/L) — — - -
5 = 1= i R (mS/m) 9.4 9.3 8.4 9.5 9.5
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H28.9.26 | H28.10.3 @ H28.11.9 H28.12.13 H29.1.10 @ H29.2.15  H29.3.14 R /) )
<0. 0003 - - - - - - - - <0. 0003
<0. 0002 - - - - - - - - <0. 0002

<0. 001 - - - - - - - - <0. 001
<0. 0001 - - - - - - - - <0. 0001
<0. 0001 — — — — — — — — <0. 0001

<0. 001 - - - - - - - - <0. 001

<0. 06 - - — — — — — — <0. 06

<0. 001 — — — — — — — — <0. 001

<0. 001 — — — — — — — — <0. 001

<0. 001 — — — — — — — — <0. 001

0.8 — — — — — — — — 0.8
<0. 0001 — — — — — — — — <0. 0001
<0. 0001 — — — — — — — — <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1

-1.1 — — — — — — — — -1.1

4 4 0 0 0 0 0 4 0 1
<0. 0001 — — — — — — — — <0. 0001
2 — — — — — — — — 2

0 0 0 0 0 0 0 0 0 0

12 — — — — — — — — 12

4.8 — — — — — — — — 4.8

4 — — 6 — — 7 7 4 6

55 — — — — — — — — 55

12. 2 10. 9 9.4 9.5 8.7 9.6 9.9 12.2 8.4 9.7
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2 KGR DO KEHRAE
(7] KRiligKG
(1) B R Ol E AL

@ K

£ 7K i A H H28. 9. 26 22 7K i A H H28. 9. 26
L3-Y 7uwew7  na” v DD (mg/L)| <0.0002 F 4 7 7 Fx — bk A F L (mg/L)| <£0.0001
2,2-DPAC ¥ & v ) (mg/L)| <0.0002 F F X v FH o 7 (mg/L)| <0.0001
2, 4-D (2, 4-PA) (mg/L)| <0.0001 F O 7 H 7 (MBPMC) (mg/L)| <0.0001
EPN (mg/L)| <0.00001 k P v =t =4 Jb (mg/L)| <0.00005
MCPA (mg/L)| <0.00005 U 7 w v & v (DEP) (mg/L)| <0.00005
7 v e 7 2 (mg/L)|  <0.0001 kU ¥y 7 Z Y — L (mg/L)| <0.0001
7 + 4 - — I (mg/L)| <0.00005 kv 7 o Z U v (mg/L)| <0.0001
7 k 7 v > (mg/L)| <0.0001 5 a = s 2 K (mg/L)| <0.0001
7 = =4 Rz 2 (mg/L)| <0.00001 =4 ~ =t N 2 (mg/L)| <0.00001
7 N b 7 2 (mg/L)| <0.00005 v 5 Y % v 7 = v (ng/L)] <0.00001
7 7 7 =4 — Jb (mg/L)| <0.0001 oYU x—h(EFYL—F) (mg/L)| <0.0001
4 Y % ¥ F 4 v (mng/L)| <0.00005 vy ¥ 7 = v F 4 v (mg/L)]| <0.00001
4 v 7 = v & A (mg/L)| <0.00001 vy 7 F H v F (mg/L)]| <0.0001
A4 Y 7 v H N 7 MIPC) (mg/L)| <0.0001 =4 = ¥ =t > (mg/L)| <0.0001
A4 Y 7 v F F F v (IPT) (mg/L)| <0.0001 7 A e = = JV (mg/L) [<0. 000005
A4 7 m X » &’ A (IBP) (mg/L)| <0.0001 7 = = b v F F ¥ (MEP) (mg/L)| <0.0001
A4 v ¥ 7 7 7 v (mg/L)| <0.00005 7 = J 7 H v 7 (BPMC) (mg/L)| <0.0001
— 2 7 w #H N 7 (mng/L)| <0.0001 7 = v F F v PP) (mg/L)| <0.00005
= ¥ 4 7 = v & % (EDDP) (mg/L)| <0.00005 7 = v k = — b+ (PAP) (mg/L)| <0.00005
= N7 = v 7 v v 7 A (ng/L)] <0.0001 7 x v F 7 ¥ I F (mg/L)| <0.0001
T RYTTY = (s a A=) (mg/L)| <0.00001 4 VA 7 A K (mg/L)[ <0.0001
T RALT 7o (R ) (ng/L)| <0.0001 7 vl v =4 — Jb (mg/L)| <0.0001
4+ ¥ ¥ Y 7 v A K v (mg/L)| <0.0001 7 v N = 2 (mg/L)| <0.0001
% v v 8 (F B 8 ) (mg/L)| <0.0001 7 7 wm 7 = ¥ v (mg/L)| <0.0001
4 UV ¥ A b m B v (mg/L)] £0.0001 4 JL 7 v a 2 (mg/L)| <0.0001
H 2 a N 2 (mg/L)| <0.00001 7 v F Z 7 v — b (mg/L)| <0.0001
H 7 = v A k m — i (mg/L)| <0.00005 -7 = D 3 K > (mg/L)| <0.0001
F /A VIS SR s (NAC) (mg/L)| <0.0001 vl =i ¥ %+ Rz 2 (mg/L)| <0.00001
/Y VR S = SV S R (mg/L)| <0.0001 7 v ¥ a5 v — L (mg/L)| <0.0001
H L N 7 Z > (mg/L)| <0.00005 v = = i N K (mg/L)|[ <0.0001
X /7 7 2 v (ACN) (mg/L)| <0.00005 7 v N Y — L (mg/L)| <0.0001
* ¥ 7 v > (mg/L)| <0.0001 v =t £ 7 ¥ K (mg/L)[ <0.0001
v 3 JL o > (mg/L)| <0.0001 ~ J 2 Jb (mg/L)| <0.0002
sy wm A w v 7 (mg/L)| <0.0001 ~ N g Vi =t > (mg/L)| <0.0001
7 m )= kua 7 = v (CNP) (mg/L)| <0.00001 N v Y v vy om v (mg/L)| <0.0001
s/ w o U & R (mg/L)| <0.00001 ~ v v 7 = F v 7 (mg/L)]| <0.00001
7 m v % u = b (TPN) (mg/L)| <0.0001 ~ N v ) >~ (mg/L)| <0.0001
D2 7 7 DX > (mg/L)| <0.00001 ~ v F 4 A Z U v (mg/L)| <0.0001
¥ 7 7 3 % (CYAP) (mg/L)| <0.00001 N v 7 H T (mg/L)| <0.0001
v v = v (DCMU)  (mg/L) [ <0.0001 Ny T ANT Y (R zxaYy) (mg/L)| <0.0001
v 7 v < = 5 OBN) (mg/L)| <0.0001 ~N v 7 L & — b (mg/L)| <0.0001
Y 7 w A AR Z  (DDVP) (mg/L)| <0.00005 A A F 7 ¥ — b (mg/L)| <0.00001
VANE (= FAFAA L) (mg/L)| <0.00001 ~ 7 FF v (=~ F Y v ) (mg/L)| <0.0001
v ¥ %+ = Jb (mg/L)| <0.00005 A @ F wm v 7 (MCPP) (mg/L)| <0.0001
oo v R vy 7 F L (mg/L)] <0.00005 A v 3 JV (mg/L)| <0.0001
v ~ v N (CAT) (mg/L)| <0.00001 A v Z x D4 b (mg/L)| <0.0001
v A Z R U ¥ (mg/L)| <0.0001 A F F F F ~  (DMTP) (mg/L)| <0.00001
v A k - — L (mg/L)| <0.0001 A F o X 4 A v v (ng/L)| <0.0001
v A b~ U ~ (mg/L)| <0.0001 A F I 7 Z2 F vw E v (mg/L)| <0.0001
YA ¥~ L — b (mg/L)]| <0.00001 A b Jj 7 D v (mg/L)| <0.0001
vl A 7 v J > (mg/L)| <0.00001 A 7 = F ¥ v + (mg/L)| <0.0001
v A A =1 > (mg/L)| <0.0001 A a =4 = Jb (mg/L)| <0.0001
¥ 7 v = Jb (mg/L)| <0.0001 £ Jj = — L (mg/L)[ <0.00005

¥ v = 2 (mg/L)| <0.0001

7 %+ 4 VY Jb 7 (mg/L)| <0.0001
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£ 7K i A H H28. 9. 26 22 7K i A H H28. 9. 26
EPN 7 ¥ 4 > (mg/L)| <0.00001 F T A % ¥ A& (mg/L)| <0.0001
A4 Y XY F 4 v F F Y v (mg/L)| £0.00005 Vi 7 Ju Vi 2 K (mg/L)| <0.0001
A4 Y 7 = v AR A F % Y v (ng/L)[<0.000005 T b7 7 v LB AR A (CWP) (mg/L)| <0.0001
- v F 2 A 7 = — b (mg/L)| <0.0001 > b 7 =2 F ¥V — J (mg/L)| <£0.0001
CNP- 7 3 J & (mg/L) [<0. 000001 > 7 7 = J ¥ K (mg/L)] <£0.0001
7 v ¥ U R AL F Y v (mg/L)| <0.00001 U X% W Xy 7 = F b (mg/L)| <0.0001
A4 7T Y ) v F F Y v (mg/L)]| <0.00001 U 7 o 2 Y — b (mg/L)| <0.0001
7 =t FF A F Y (mg/L)]| <0.00005 > 7 v ¥ = Y K (mg/L)| <0.0001
MPP 2 L & ¥ ¥ K (mg/L)| <0.00005 = 7 N =4 5 2 (mg/L)|  <0.0001
MPP A JL gz v (mg/L)| <0.00005 Ny v 7 5 Y — b (mg/L)|  <0.0001
MPP %+ ¥ v > (mg/L)| <0.00005 =4 A k =4 V4 > (mg/L)| <0.0001
MPP 4 &% ¥ v A2 )L 3R & ¥ K (mg/L)| <0.00005 g Yz 7 ua rx F L (mg/L)| <0.0001
MPP 4+ * Y ¥ Z 2 & v (mg/L)| <0.00005 U RNy 7 A F g (mg/L)]| <0.0001
7 % I &k A 4 ¥ Y v (mg/L)| <0.0001 v Yy I &k A A F L (mg/L)| <£0.0001
7 v ® 7 F K5 7 v ® (mg/L)| <0.0001 7 7 A b =4 JL (mg/L)| <0.0001
~ 7 F F v F YV v (mg/L)| <0.0001 7 v 7T Y & v 7 (mg/L)| <0.0001
7 w2 = 2 (DCPA) (mg/L)| <0.0001
7 v x 2 7 Y F (mg/L)[ <0.0001 - = A N 2 (mg/L)| <0.00001
A4 2 ¥ 7 wv ZF U K (mg/L)| <£0.0001 7 a N v ¥ » kb (BPPS) (mg/L)[ <0.0001
F 7 @ F v — )L (mg/L)] <£0.0001 7 v K Fx A A (PHO) (mg/L)| <0.0001
|=§ 7 v =4 Rz 2 (mg/L)| <0.0001 va = A bk ) > (mg/L)| <0.0001
7 O A 7 7 2 F (mg/L)| <0.00001 N Z A4 F v 7 (mg/L)| <0.00005
7 = < V4 Jb (mg/L)| <0.0001 D ¥ Dl 2 (mg/L)| <0.00001
~ v b X ¥ v v (mg/L)| <0.0001 N A # ) K (mg/L)[ <0.0001
D A = > (mg/L)| <0.0001 £/ 7 o b A (mg/L)| <0.00001
A N 7 v — b (mg/L)| <0.0001 ] = e =4 > (mg/L)| <0.0001
7 R v T b -S- A F L (mg/L)| <0.0001 7 Y % v A b m E v (mg/L)| <0.0001
7 A bk ) > (mg/L)| <0.0001 A =7 = Y % > (mg/L)| <0.0001
A4 F X~ T 4 F (mg/L)|[ <0.0001 7 = =4 kS 7 (mg/L)| <0.0001
4 <= Y A2 A 7 u v (mg/L)| <0.0001 T val = 2 > (mg/L)| <0.0001
vo= =22 F J — 3 P (mg/L)| <0.0001 Va = JL 7 =4 — JL (mg/L)| <0.0001
= b ¥ ¥ X o 7 v ¥ (mg/L)| <0.0001 M v 7 v R A A F b (mg/L)| <0.0001
- + N v ¥ = F (mg/L)| <0.0001 N\ A 7 v v A F g (mg/L)| <0.0001
+ % Y 7 L F o (mg/L)]| <0.0001 v 7 = v 7 A (mg/L)| <0.0001
%+ * VA N sV (mg/L)| <0.0001 vy 7 e % ¥ 7 = v (mg/L)| <0.0001
X ¥ v & v F = F A (mg/L)| <0.0001 7 5 ¥ =2 A 7 u ¥ (mg/L)| <0.0001
s v F 7 = ¥ v (mg/L)]| <0.0001 4 L k 7 = Jb (mg/L)| <0.0001
s v < 7 = 7 ¥V F (mg/L)| <0.0001 N R ) K (SAP) (mg/L)| <0.0001
7w gL B — )L P A F )L (ICTP) (mg/L)| <0.0001 N v AR 7 m v A F v (mg/L)|  <0.0001
7 v b F U R A A F b (mg/L)| <0.0001 A * ¥ Jb (mg/L)| <0.0002
Y7 v 7 x v F 4 v (ECP) (mg/L)| <0.00005 v Z B AAFALAEFY ¥ (mg/L)| <0.0001
D Vi = A v > (mg/L)| <0.0001
Y s wm A 7 v v 7 (mg/L)| <0.0001 > * ¥ ¥ 7 Y v (mg/L)| <0.0001
>y ) A 7 v v (mg/L)| <0.0001 s m A b *¥ ¥ = Jv (mg/L)| <0.0001
v J va 4 v > (mg/L)| <0.0001 MV 7 bEAL-2-T FFF I/ (mg/L)| <0.0001
Y 7 = J a3 F Y — b (mg/L)| <0.0001 = + m 7 = v (NIP) (mg/L)| <0.0001
v 7 g X v X m r (mg/L)| <0.0001 - = A DX > (mg/L)| <0.0001
vy 7 v =z v — b (mg/L)| <0.0001 2- 4 b & U % — k (mg/L)| <0.0001
D - o D = JL (mg/L)| <0.0001
Y A a F Y — b (mg/L)| <0.0001
Y A F o v v & Z (mg/L)| <0.0001
vy 7 7 v & 7 = v (mg/L)| <0.0001
v v A ¥ ) > (mg/L)| <0.0001
F 7 v wa  F K (mg/L)[ <0.0001
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